There are thirty thousand, four hundred and seventy-four people at a football match.
What is this number written in figures?

34,474 30,704 30,474 3,474 30,744

Jake has one £2 coin, five 50p coins, three 10p coins and five 5p coins.

How much money does he have?

Which of the shapes is not a quadrilateral?

Peaches cost 58p each.

How much will 9 peaches cost?

Here is a list of scores in a spelling test.
12 14 11 8 14

What is the modal score?
Which number lies half-way between 46 and 84?

The time on an analogue clock shows 2.45 p.m.
How would this be written as a 24-hour clock time?

12:45 02:45 14:45 16:45

Which of these numbers is not a square number?

25 81 64
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